WDAY+ 301 8th ST S Fargo, ND 58103 AdVictory PO Box 367	Contract # Schedule Dates Advertiser Agency Product Brand Salesperson Sales Office Buyer Name Phone/Fax	91634 05/28/24-06/03/24 Tammy Miller for North Dakota (9880) AdVictory (2150) POLITICAL ND Governor (1053) Political (1024) Jen, Gion (1006) WDAY	Date Entered Last Modified Entered By CO-OP External # Demo Order Type Package Deal Commission %	05/23/24 05/29/24 Jennifer Gion No Normal 15.00 \$3,885.00	WDAY+ (WDAY+) By Broadcast Month Jun. 2024 Grand Total:	Spots 120 120	Rate \$25,500.00 \$25,500.00
AdVictory	Salesperson Sales Office Buyer Name	Political (1024) Jen, Gion (1006)	Order Type Package Deal Commission %	15.00			

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa S	u S	pots	Rate	Total	Station	Comments	Entered
1.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	5A- 6A (CST)			1	1	1	1			4	\$90.00	\$360.00	WDAY+ (WDAY+)		5/23/24
2.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	5A- 6A (CST)		1							1	\$90.00	\$90.00	WDAY+ (WDAY+)		5/23/24
3.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	7A- 8A (CST)			1	1	1	1			4	\$400.00	\$1,600.00	WDAY+ (WDAY+)		5/23/24
5.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	8A- 9A (CST)			1	1	1	1			4	\$200.00	\$800.00	WDAY+ (WDAY+)		5/23/24
6.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	8A- 9A (CST)		1							1	\$200.00	\$200.00	WDAY+ (WDAY+)		5/23/24
7.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	9A- 10A (CST)			2	2	2	2			8	\$90.00	\$720.00	WDAY+ (WDAY+)		5/23/24
8.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	9A- 10A (CST)		2							2	\$90.00	\$180.00	WDAY+ (WDAY+)		5/23/24
9.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	10A- 11A (CST)			2	2	2	2			8	\$70.00	\$560.00	WDAY+ (WDAY+)		5/23/24
10.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	10A- 11A (CST)		2							2	\$70.00	\$140.00	WDAY+ (WDAY+)		5/23/24
11.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	11A- 12P (CST)			2	2	2	2			8	\$100.00	\$800.00	WDAY+ (WDAY+)		5/23/24
12.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	11A- 12P (CST)		2							2	\$100.00	\$200.00	WDAY+ (WDAY+)		5/23/24
13.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	12P- 1P (CST)			1	1	1	1			3	\$60.00	\$180.00	WDAY+ (WDAY+)		5/23/24
14.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	12P- 1P (CST)		1							1	\$60.00	\$60.00	WDAY+ (WDAY+)		5/23/24
					CON	FIR	RM/	AT	10I	N (CC	NT	RA	AC.	Т				
Accepted-	Accepted-Sta	tion:									Date:	Comments:							



AdVictory PO Box 36 Spencervi

ry 367 rville, MD 20868	WDAY+ 301 8th ST Fargo, ND		Sch Adv Age Pro Bra Sale Sale Sale Sale Sale Sale Sale Sal	esperson es Office ver Name one/Fax		. for No .50) D Gove 4) 06)	ernor ((1053		80)			La Ei Ei Di Oi Pi Ci Ni	ate Enti ast Mod ntered I 0-OP xternal emo rder Tyj ackage ommiss ommiss et Total ales Ta	ified () 3y] # pe Deal ion () son ()	5/23/24 5/29/24 ennifer Gion lo Normal 5.00 53,885.00 522,015.00		WDAY+ (W By Broadcast Jun. 2024 Grand Total:	-	Spots 120 120	\$25,500 \$25,500	
	e (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total		Station		Commen	ts	Entered
Line Type / Break Typ		E/20/24 0E/21/24	1	.30 1	P- 2P (CST)			1	1	1	1			4	\$60.	00 \$240.00	WDAY+ (WD	DAY+)			5	/23/24
Line Type / Break Typ rmal Line / SPOT	0	5/28/24-05/31/24	T	.501	21 (651)		-															/==/= ·
		6/03/24-05/31/24 6/03/24-06/03/24	1		P- 2P (CST)		1							1	\$60.	\$60.00	WDAY+ (WD	DAY+)				/23/24
rmal Line / SPOT	0		1	:30 1	. ,		1	1	1	1	1			1	\$60. \$50.) WDAY+ (WD) WDAY+ (WD				5/	

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
15.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	1P- 2P (CST)			1	1	1	1			4	\$60.00	\$240.00	WDAY+ (WDAY+)		5/23/24
16.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	1P- 2P (CST)		1							1	\$60.00	\$60.00	WDAY+ (WDAY+)		5/23/24
17.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	2P- 3P (CST)			1	1	1	1			4	\$50.00	\$200.00	WDAY+ (WDAY+)		5/23/24
18.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	4P- 5P (CST)			2	2	2	2			8	\$150.00	\$1,200.00	WDAY+ (WDAY+)		5/23/24
19.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	4P- 5P (CST)		2							2	\$150.00	\$300.00	WDAY+ (WDAY+)		5/23/24
20.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	5P- 5:30P (CST)			1	1	1	1			4	\$600.00	\$2,400.00	WDAY+ (WDAY+)		5/23/24
21.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	5P- 5:30P (CST)		1							1	\$600.00	\$600.00	WDAY+ (WDAY+)		5/23/24
22.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	6P- 6:30P (CST)			1	1	1	1			4	\$900.00	\$3,600.00	WDAY+ (WDAY+)		5/23/24
23.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	6P- 6:30P (CST)		1							1	\$900.00	\$900.00	WDAY+ (WDAY+)		5/23/24
24.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	10P- 10:35P (CST)			1	1	1	1			4	\$900.00	\$3,600.00	WDAY+ (WDAY+)		5/23/24
25.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	10:35P- 11:35P (CST)			1	1	1	1			4	\$200.00	\$800.00	WDAY+ (WDAY+)		5/23/24
26.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	10:35P- 11:35P (CST)		1							1	\$200.00	\$200.00	WDAY+ (WDAY+)		5/23/24
27.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	11:35P- 12:05A (CST)			1	1	1	1			4	\$90.00	\$360.00	WDAY+ (WDAY+)		5/23/24
28.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	11:35P- 12:05A (CST)		1							1	\$90.00	\$90.00	WDAY+ (WDAY+)		5/23/24
	<u> </u>	•			CONF	FIF	RM/	AT	10	N (CC)N	٢R	AC	Т				
Accepted	-Agency/Advertiser:			Date:	Accepted-Sta	tion:									Date:	Comments:			



AdVictory PO Box 367 Spencerville, MD 20868

	Contract Schedule Dates
	Advertiser
6	Agency
58103	Product
	Brand
	Salesperson
	Sales Office
	Buyer Name
	Phone/Fax
	CPE
	Account Types

Billing Type Comments

:t #	91634
es	05/28/24-06/03/24
	Tammy Miller for North Dakota (9880)
	AdVictory (2150)
	POLITICAL ND Governor (1053)
	Political (1024)
	Jen, Gion (1006)
	WDAY
	/
	AVTM528
5	National/Political - Candidate
	Standard
	WDAY+ 5.28-6.3.24

Date Entered	05/23/24
Last Modified	05/29/24
Entered By	Jennifer Gion
CO-OP	No
External #	
Demo	
Order Type	Normal
Package Deal	
Commission %	15.00
Commission	\$3,885.00
Net Total	\$22,015.00
Sales Tax	

WDAY+ (WDAY+)		
By Broadcast Month	<u>Spots</u>	<u>Rate</u>
Jun. 2024	120	\$25,500.00
Grand Total:	120	\$25,500.00
		, .,

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
29.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	12:37A- 1:05A (CST)			1	1	1	1			4	\$50.00	\$200.00	WDAY+ (WDAY+)		5/23/24
30.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	12:37A- 1:05A (CST)		1							1	\$50.00	\$50.00	WDAY+ (WDAY+)		5/23/24
31.0	Normal Line / SPOT	05/28/24-05/31/24	1	:30	1:37A- 2:35A (CST)			1	1	1	1			4	\$50.00	\$200.00	WDAY+ (WDAY+)		5/23/24
32.0	Normal Line / SPOT	06/03/24-06/03/24	1	:30	1:37A- 2:35A (CST)		1							1	\$50.00	\$50.00	WDAY+ (WDAY+)		5/23/24
33.0	Normal Line / SPOT	05/31/24-05/31/24	1	:30	9P- 10P (CST)						1			1	\$700.00	\$700.00	WDAY+ (WDAY+)	20/20	5/23/24
34.0	Normal Line / SPOT	06/01/24-06/01/24	1	. :30	5A- 6A (CST)							1		1	\$40.00	\$40.00	WDAY+ (WDAY+)		5/23/24
35.0	Normal Line / SPOT	06/01/24-06/01/24	1	:30	6A- 7A (CST)							1		1	\$100.00	\$100.00	WDAY+ (WDAY+)		5/23/24
36.0	Normal Line / SPOT	06/01/24-06/01/24	1	:30	7A- 8:30A (CST)							1		1	\$170.00	\$170.00	WDAY+ (WDAY+)		5/23/24
37.1	Normal Line / SPOT	06/01/24-06/01/24	1	:30	7P- 10P (CST)							2		2	\$350.00	\$700.00	WDAY+ (WDAY+)	NHL	5/23/24
38.1	Normal Line / SPOT	06/01/24-06/01/24	1	:30	11:05P- 12:05A (CST)							2		2	\$80.00	\$160.00	WDAY+ (WDAY+)		5/23/24
39.1	Normal Line / SPOT	06/01/24-06/01/24	1	:30	12:05A- 1:05A (CST)							2		2	\$40.00	\$80.00	WDAY+ (WDAY+)		5/23/24
40.0	Normal Line / SPOT	06/02/24-06/02/24	1	:30	6A- 7A (CST)								1	1	\$100.00	\$100.00	WDAY+ (WDAY+)		5/23/24
41.0	Normal Line / SPOT	06/02/24-06/02/24	1	:30	5:30P- 6P (CST)								1		\$400.00		WDAY+ (WDAY+)		5/23/24
42.1	Normal Line / SPOT	06/02/24-06/02/24	1	:30	8P- 9P (CST)								2	2	\$600.00	\$1,200.00	WDAY+ (WDAY+)	AFV	5/23/24
	•	•			CON	FIF	RM/	AT	10	N	СС)N	ΤF	RAC	T				
Accepted	cepted-Agency/Advertiser: Date: Accepted-Station: Date:											Date:	Comments:						



AdVictory PO Box 367 Spencerville, MD 20868

DAY+	Contract # Schedule Dates Advertiser	91634 05/28/24-06/03/24 Tammy Miller for North Dakota (9880)	Date Entered Last Modified Entered By	05/23/24 05/29/24 Jennifer Gion	WDAY+ (WDAY+) By Broadcast Month Jun. 2024	Spots 120	<u>Rate</u> \$25,500.00
1 8th ST S rgo, ND 58103	Agency Product Brand	AdVictory (2150) POLITICAL ND Governor (1053) Political (1024)	CO-OP External # Demo	No	Grand Total:	120	\$25,500.00
	Salesperson Sales Office Buyer Name	Jen, Gion (1006) WDAY	Order Type Package Deal Commission %	Normal 15.00			
	Phone/Fax CPE	/ AVTM528	Commission Net Total	\$3,885.00 \$22,015.00			
	Account Types Billing Type Comments	National/Political - Candidate Standard WDAY+ 5.28-6.3.24	Sales Tax				

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu V	Ve Th	n Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
43.0	Normal Line / SPOT	06/02/24-06/02/24	1	:30	10P- 10:35P (CST)							1	1	\$950.00	\$950.00	WDAY+ (WDAY+)		5/23/24
44.0	Normal Line / SPOT	06/02/24-06/02/24	1	:30	10:35P- 11:05P (CST)							1	1	\$200.00	\$200.00	WDAY+ (WDAY+)		5/23/24
45.1	Normal Line / SPOT	06/02/24-06/02/24	1	:30	12:05A- 1:05A (CST)							2	2	\$40.00	\$80.00	WDAY+ (WDAY+)		5/23/24
46.1	Normal Line / SPOT	06/02/24-06/02/24	1	:30	4:30A- 5:30A (CST)							2	2	\$40.00	\$80.00	WDAY+ (WDAY+)		5/23/24
	CONFIRMATION CONTRACT																	
Accepted-Agency/Advertiser: Date: Accepted-Station:											Date:	Comments:						

		/DAYZ X D1 S 8th argo, NE	Street	Sch Add Pro Bra Sal Sal Sal Buy Pho CPI Acc Bill	esperson es Office ver Name one/Fax	25	91634 05/28/24-06/0 Tammy Miller AdVictory (21: POLITICAL NE Political (1024 Jen, Gion (100 WDAY / AVTM528 National/Politi Standard WDAY+ 5.28-6.3.24	for No 50) O Gove }) 06)	rnor	r (1053	-	80)		1 6 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	Date Ent ast Mod intered CO-OP External Demo Order Ty Package Commiss Net Tota Sales Ta:	lified By # Deal Sion %	05/23/2 05/29/2 Jennifer No Normal 15.00 \$3,885. \$22,015	4 · Gion 00		WDAYZ-XT By Broadcas Jun. 2024 Grand Total:		Rat \$400.00	0
Line	Line Type / Break Type (F	Ref #)	Dates	Sec	Length	Ru	un Times	SPW	Mc) Tu	We	Th F	-r S	a Su	Spots	Rate		Total		Station	Comments	Ente	ered
47.1	M/G For 41.0.1 / SPOT		05/30/24-05/30/24	1	:30	6:55P- 8:30	DP (CST)					2			2	\$200	D.00	\$400.00	WDAYZ-XT	ra (gday)	Miller/Armstrong Debate	e 5/29/	/24
																-							
							CON	JFIF	RN	IAT	10	V C	10	NTF	RAC	Т		-					
	Agency/Advertiser:				Date:		Accepted-S	Station:								Date:		Comments:					

Terms &	Conditions							
	1							i i